== A
N £ 0 & 23 H A A
U 20a LetsH 2stds223=2 ~ 2ods22
FoHs22= FM 230
=stols Y
=X 283t (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
s = 328,694,970 283,780,481 44,914,489
= 70,016,976
s 91,207,000
J| 27,358,969
< 140,112,025
E o0l = At 0t 96,535,436 79,560,472 16,974,964
= 15,708,338
s 25,697,000
J| 6,725,258
< 48,404,840
s FY 62,315,943 49,288, 13,027,055
= 1,989,337
s 22,622,000
J| 4,806,080
< 32,898,526
F=Xd 2483t 15,155,117 14,280, 874,491
= 553,167
s 10,085,000
< 4,516,950
S8 A72AMY K& 184,000 152 31,900
308 X XIEHH SOl A 184,000 152 31,900
N 3IN2SUHUS3 LS A I 184,000 152 31,900
OF=8 oA 184,000
M=Y BHRHE ZHAIS 3,120,000 4,560, A 1,440,000
s 2,600,000
< 520,000
403 XIS E X201 H 3,120,000 4,560, A 1,440,000
s 2,600,000
< 520,000
01 X EHHMA=LE L 3,120,000 4,560, A 1,440,000
OA=Y EHneHE ZHAY 3,120,000
as 2,600,000
< 520,000
2otites B2 E 22 ZEAY 618,000 912 A 294,000
s 515,000
< 103,000
403 UHXSHHSA=0l& 618,000 912 A 294,000
s 515,000
S 103,000
01 X SHMA=2E X 618,000 912 A 294,000
O235tat £2l723 2232 ZHAY 618,000
s 515,000
< 103,000
s BIEHXZ0E THEAMY 1,200,000 1,200, 0
s 1,000,000
< 200,000




AR 2HHSDYR SN 2sUESYD
M 2oz 2L
& 2o=X2 243 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 1,200,000 1,200,000 0
s 1,000,000
< 200,000
01 X SHMA2E X 1,200,000 1,200,000 0
O&d 2SEXI0E =4AMY 1,200,000
s 1,000,000
< 200,000
Che IS 250t ZEMY 1,800,000 0 1,800,000
as 1,500,000
< 300,000
403 MtXISHHE X201 & 1,800,000 0 1,800,000
as 1,500,000
< 300,000
01 X SHHA2E = 1,800,000 0 1,800,000
Ot ASE30tE D4 A Y 1,800,000
s 1,500,000
< 300,000
AALH L ZHAY 564,000 1,128,000 A 564,000
s 470,000
< 94,000
403 A X EHHS =0l A 564,000 1,128,000 A 564,000
s 470,000
< 94,000
01 X SHHMA=2LE L 564,000 1,128,000 A 564,000
Ol MAHd ZAAY 564,000
2 470,000
< 94,000
Y= HHIZSHE S ZEAY 1,200,000 600,000 600,000
s 1,000,000
< 200,000
403 X SHHSA=0l& 1,200,000 600,000 600,000
s 1,000,000
< 200,000
01 X SHMA=2E X 1,200,000 600,000 600,000
Ostys HHIZaME SN ZEAHY 1,200,000
s 1,000,000
< 200,000
T8 MO ZEAY 600,000 840,000 A240,000
s 500,000
< 100,000
403 MHXISHE X201 E 600,000 840,000 A 240,000
ras 500,000
< 100,000
01 X SHHX2E = 600,000 840,000 A240,000
OxE X0t ZdAY 600,000




A= 2gHsDR= FA 2et0E A
M 2oz 2L
& 2o=X2 243 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
e 500,000
< 100,000
A2 0H ZEOtE AL 600,000 303,600 296,400
s 500,000
< 100,000
403 UHXSHHSA=0l& 600,000 303,600 296,400
s 500,000
< 100,000
01 HXSHMA=E X 600,000 303,600 296,400
OXglndl HBI0E Z8AY 600,000
s 500,000
< 100,000
S0sd FELIO ZHEAMY 600,000 0 600,000
s 500,000
< 100,000
403 UtXISHH S A0l & 600,000 0 600,000
as 500,000
< 100,000
01 XS M A=2EE 600,000 0 600,000
O=20tsd SEIO =dA 600,000
s 500,000
< 100,000
23 EA =4 1,950,000 1,950,000 0
s 1,500,000
< 450,000
308 MtXIEHSOIH 1,950,000 1,950,000 0
s 1,500,000
= 450,000
01 HXNHHBHELS 1,950,000 1,950,000 0
O&=F 23T A =24 1,950,000
s 1,500,000
< 450,000
E=ER0sEE 29 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
02 It M AHE L 25,000 25,000 0
OE==alz=xEdy 23 25,000
S=EE A L2t 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
02 It A AHEE 9,000 9,000 0
O=S==Zstadegs X &2t 9,000
SE23Y NSz 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 ItFAAHE X 20,000 20,000 0
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
O&stel Z0| mASLICH. 40,000
= 40,000
Ogas zt= 2SHE (FUN)X 40,000
= 40,000
2epH0SE A 16,200 20,000 A 3,800
308 MtXIEHSOIH 16,200 20,000 A 3,800
11 3J2SoHUHSI A ALS HI 16,200 20,000 A 3,800
O&s= 2L EAY 16,200
223N 243 X 20,000 20,000 0
308 XX EHSOIA 20,000 20,000 0
01 HXNHHNBNEELES 20,000 20,000 0
o==2ssH 43t 20,000
ZEUE S0l IZEX XA 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OHEUESEXO0 e=&X X& 10,000
SEECEIAMHETI S 2L 27,368 23,168 4,200
201 Let24E] 27,368 23,168 4,200
02 2324gl 27,368 23,168 4,200
Oz22= & HA 8,920
OAIE ZHIS X 18,448
SE=EFs0=0z 2 29 144,106 143,737 369
307 glz2+ol & 144,106 143,737 369
05 RIZt2E = 144,106 143,737 369
OE=Esd=s 2 24 144,106
ST 29 XA 1,464,812 1,342,691 122,121
306 93 1,464,812 1,342,691 122,121
01 &3 1,464,812 1,342,691 122,121
Os=E=2stMe 294 A& 1,464,812
SEHASAY 16,650 16,650 0
307 gl2tol & 16,650 16,650 0
04 DIZHHALALSE E X 16,650 16,650 0
OEEdEAY 16,650
CH4d3E wsEid 23,400 23,400 0
308 XXM SO A 23,400 23,400 0
01 HIXNHHNBNEES 23,400 23,400 0
OEEd3=2usIA 23,400
SEEL Fuls 29 30,000 30,000 0
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A= 2gHsDR= FA 2et0E A
HH: 230z 2L
o9l 25 01Te PF L BEHE SY CERED
L=
AR .SN . O (3H) - NBAY - B Ol &F o4 ﬁlgﬁ HRE2
01 AIKSHMEAMNEX= 45,000 50,000 A5,000
OEectotdg st MK 45,000
=2 RH =220l 2F X 300,000 300,000 0
308 XHXIGHH SO0l & 300,000 300,000 0
01 IXHHIMNEXS 300,000 300,000 0
O 2d=322/0ld 2¥18(2) 300,000
2HIAY SEEHEIA 2H(UHE) 400,000 400,000 0
308 XX SHHSOIH 400,000 400,000 0
112 2ESNUSHEAXNE A 400,000 400,000 0
OXdzaxadsd HEIID 29 () 400,000
ZHEZSEH 29 60,000 60,000 0
308 XHXIEHSOIA 60,000 60,000 0
11 BIZ2SUHUSHEAEAE AT Y| 60,000 60,000 0
ORdxs+2H 24(02) 60,000
SSAHZ0F M RAIE Y =& 50,000 50,000 0
308 XHXIEH SOl A 50,000 50,000 0
1122 SUHUSHEAEAE AT Y| 50,000 50,000 0]
OSSAH20F AFAIE Y =X 50,000
A X ZeloF HAEY 270,000 0 270,000
308 MXISHHSOIA 270,000 0 270,000
01 IXHHIMNEXS 270,000 0 270,000
02022 & X & sAHZXZEIoF HAEY) 270,000
M AOHA 18,000 18,000 0]
308 XX SHHSOIH 18,000 18,000 0
01 AIXSHMENEXZ 18,000 18,000 0
OHM193 & XIMHCHA 18,000
eATX 3 W=zl & = 30,000 30,000 0
308 XX G M SO0l A 30,000 30,000 0
112 2SUHUSHEAEAE AT Y| 30,000 30,000 0
OEE e-2AEZxUY3 30,000
MESSIHAEH XM 4,250,000 1,325,000 2,925,000
Fag 4,250,000
403 XX SHS K20 & 4,250,000 1,325,000 2,925,000
Fag 4,250,000
01 MXHHAEBE = 4,250,000 1,325,000 2,925,000
O=sd MES0C 45 S8 3AY 810,000
Fag 810,000
OaHd =Sg=stdy 1Y 790,000




AR 2HHSDYR SN RSsAYD
M 2oos &Y
o9l 23 oEe RE Y BHX K4 CER-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
e 790,000
Og=3el Me23tdH 24 300,000
s 300,000
OSgUEEsdH =4 550,000
s 550,000
OME ey A AL 900,000
s 900,000
OnutEZ st A8 900,000
s 900,000
HEd=soddg A8 XA 2,500,000 0 2,500,000
403 Mt S E X201 & 2,500,000 0 2,500,000
01 X SHHMA=2LE L 2,500,000 0 2,500,000
OMA Gls=odg 2Ae NA(HSAY) 2,500,000
EFM=AY HEy N (HeAg) 1,000,000 1,000,000 0
403 X SHHSA=0l& 1,000,000 1,000,000 0
01 X SHMA2E X 1,000,000 1,000,000 0
O tlsdg 2He N (HEAY) 1,000,000
A 2ldl=s 2 HE (HSAY) 3,820,000 1,890,000 1,930,000
403 MtXISHH S0l & 3,820,000 1,890,000 1,930,000
01 XM A=2EE 3,820,000 1,890,000 1,930,000
OXF 2stoll=3l2 HS (MSAY) 3,820,000
Db OtEHH HE X2 (MEAY) 1,800,000 200,000 1,600,000
403 XSS X201 & 1,800,000 200,000 1,600,000
01 XXM 22 = 1,800,000 200,000 1,600,000
OQUAMNOIEHMEH HE XA (MSAL) 1,800,000
ChE st HE (MEAY) 600,000 200,000 400,000
403 MHXHHSA=0l& 600,000 200,000 400,000
01 X EHHMA=E L 600,000 200,000 400,000
Otz st HE(MSAY) 600,000
HEESAZ XNEF2F 45,896 10,000 35,896
201 L2l 35,896 10,000 25,896
01 At 2t 2l 10,000 10,000 0
OBt & =2l 10,000
02 2324l 25,896 0 25,896
OSETN2SE22UANLE FANES 25,896
405 XHobF S HI 10,000 0 10,000
02 =M=l 10,000 0 10,000
OSSEAMIHEAZ EUHENM 2L 10,000
SECM2 28 XA 12,096,500 9,313,000 2,783,500




Y R e =k
=stols Y
S35 ome IF U BHE S4 CER-ED
SN - FE - B(EA) - HRAL Ol &t o4 San Hl B E2
e 7,786,000
< 4,310,500
403 XAXISHM S K201 A 12,096,500 9,313,000 2,783,500
s 7,786,000
< 4,310,500
01 XXM A2E = 12,096,500 9,313,000 2,783,500
O )ESTEUHENN2 A 700,000
=] 280,000
< 420,000
O&F A2 el2ad 2,187,500
= 1,250,000
< 937,500
OFF SYTAMN2 0| HY 1,960,000
o 1,120,000
< 840,000
O HeolgHma A 60,000
= 40,000
< 20,000
OM&E 23X AHE 1,950,000
s 1,300,000
= 650,000
Oo=2d 23X AHE 1,425,000
= 950,000
< 475,000
O=Sd FE - 34 SgdH 222 2AHE 95,000
s 90,000
< 5,000
Oua 2 M2 HE 2,295,000
s 1,540,000
< 755,000
Oty HOIREE A2 HE 1,424,000
s 1,216,000
= 208,000
SEAZ A HEEY 1,191,750 1,385,922 A 194,172
= 794,500
= 397,250
308 XXM S0l A 1,191,750 1,385,922 A 194,172
- 794,500
< 397,250
01 IXNHHBANEES 1,191,750 1,385,922 A 194,172
OSSN A AE2H 1,191,750
= 794,500
< 397,250
N2 OHEs NHlA X8 19,060 20,710 ~1,650
= 19,060
308 XX EHH SOl A 19,060 20,710 21,650
= 19,060




A= 2oHs2E3 PN 230l A
M 2oos &Y
S9l: 25 olTg 7 Y BHE 54 CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
01 AXSHHBLEES 19,060 20,710 A 1,650
O=MZ Ch23tMblA XI& 19,060
= 19,060
oA =4 XA 501,000 210,000 291,000
s 501,000
403 MtXISHHE X201 & 501,000 210,000 291,000
ras 501,000
01 XM A2 X 501,000 210,000 291,000
OFF SUMBLME NSTH2 X4 50,000
s 50,000
O22 sE=g23dH H2EH42 =4 100,000
as 100,000
Osd Fom3a H2=AMa =4 112,000
s 112,000
Ofd =N A2EMH2 =4 63,000
as 63,000
Oldts 2AHIY=SSER2 A2t &4 64,000
s 64,000
O24d 440 SEeHH A2 =4 112,000
as 112,000
22 X2 45,000 45,000 0
308 XX EHSOIA 45,000 45,000 0
01 HXNHHNBMNEES 45,000 45,000 0
OS2 TATLH 45,000
OtJlet EMote MAYE 23 85,200 85,200 0
308 XXM SO A 85,200 85,200 0
01 IXNHHBANEES 85,200 85,200 0
OO0tJI2t & Mots HAE 2= 85,200
IOMASUX ABlA Eeidl X2 3,500 1,750 1,750
201 et 3,500 1,750 1,750
02 2324l 3,500 1,750 1,750
OZIt& S AblA =Hoidl XI& 3,500
H2EA2 2F0H A2 WE 4,000 4,000 0
201 £B-2dH| 4,000 4,000 0
03 A2 S HI 4,000 4,000 0
ONSTAHZ 290t A2As US 4,000
2= EdESE ALY 50,000 0 50,000
308 X EHH SOl A 50,000 0 50,000
113/ 2SoHUHSZAEEALS I 50,000 0 50,000
Ozsl= cldss Ad 50,000




AZ: 2SR SN 2s0ENYD
M 2oz 2L
Sl BOIMY SN CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
S0 SEdXH 105,000 1,505,000 A 1,400,000
S0l &t 2435t 105,000 105,000 0
307 21201 A 105,000 105,000 0
05 BIZERI & 3 105,000 105,000 0
O303Z&Ual Nzl 28,000
OZ0¢e ws otztalol e 10,000
Of=303 HZ XA 27,000
O2R+Z20E 2 - HHE 2SI ALY 40,000
zetllzs LK 17,254,720 16,223,480 1,031,240
= 622,610
J| ,806,080
< ,826,030
EF0=2dded 2HHXA 270,000 270,000 0
308 XXM SOl A 270,000 270,000 0
01 IXNHHBANEES 270,000 270,000 0
OF=t=2dg 294H X 270,000
Fato=dE FHas N2 856,000 521,000 335,000
307 21201 A 215,000 180,000 35,000
04 QIZFHALAIH B = 215,000 180,000 35,000
OHM47al EEEX 0lsthA 50,000
OHM18al 58S ME A 20,000
OxM11e et=adsels S2H 20,000
ORM32z s=AMHUH 25,000
OHM108 s=0lsHA 15,000
02022 &= &I &AM 10,000
OZ= 0t3tolE A& 10,000
OHNezz2sl sE=2Z HUEEE 20,000
OHM21al s=0l=83d 10,000
OAx2AE & 2X0t2 S3tM=3A =32 AS 20,000
== d32Us A 2 HE 15,000
308 XX EHHSOIA 641,000 341,000 300,000
01 IXNHHBANEES 13,000 13,000 0
ORXZ WA '0/FDream’ 3,000
OHM34sl s=20=3l 10,000
13/ 2S0HetE & X A I 628,000 328,000 300,000
Odlzse &8s =HIZ2 K& 110,000
OZ= 0l&Jt N2d A3 X 50,000
o=l s N 90,000
Oollgz122¢id &=& slt=2E o4 =4 78,000
ozetelnlti dl=28= M -28 X 300,000




A= A=A = 2N 230l=arE 0t
dH: 20z 2
“4He: 2oz s8N (e &)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
XN S$E QM X& 72,300 75,000 A2,700
308 AXISHXSO0IH 72,300 75,000 A2,700
01 AXHNBMNEXZ 72,300 75,000 A2,700
Ostal= SFEIJQH XN 30,000
ON= 2dIIHM X& 18,000
OR4AA HZ2IIQM K& 10,800
OsEs2¢3 13,500
0PIl S3Es X 439,662 439,662 0
308 AHXI S SO0l & 439,662 439,662 0
01 AIXHMBAEXZ 144,000 144,000 0
OF0tdtse =434 144,000
11 SISO USE AN E A 295,662 295,662 0
OOt 2stgs NJAY 295,662
=08 230l 2HUE XA 282,000 282,000 0
307 212t0| & 157,000 157,000 0
04 QI2SHALAIE B &= 157,000 157,000 0
OM403 st =2HA=H =t 27,000
OM35e =844 A3 15,000
OHM31z s=2sH N 15,000
OM31e =22 [ &It 30,000
OM403 d=2U&sR2SE3AUS 25,000
Os=sdSHI A Z HAEYE 10,000
OFZYHE HIZAXZHUE I 10,000
OHM203 A~2=2& A=K 20,000
02022 et =0=MAE S=SUHE A2HE 5,000
308 AXISHAMSOIH 125,000 125,000 0
01 AIXIHMBAEEXZ 125,000 125,000 0
02022 ==4E82 & Fe-story 10,800
OM293 &2l M=astdaAdFANS 12,000
OHMI453] M=2EZ2U JI0k2F AU 18,000
OHMI233] CBSEH=&HAHEH SABRE 10,000
OM16a ESs2H 9,000
02022 = H A9 HAEEY 43,200
OX=HAHZSS I AU 10,000
OHMI403 S=AHA=2H H=Al 12,000
St=20K0==H 40,000 57,000 A 17,000
Dl 5,000
< 35,000
308 XX S M SO0l & 40,000 57,000 A 17,000
Jl 5,000
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A= 2o Ms2E= PN 230l A
M 2oos &Y
tel: Eetols S8R (cho &)
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OMAZEX YOot=Sat &2tAtY 11,700
OHl4zl RHae 2 70,000
O280 == &5 A58 ¢d 15,000
04 QIZFHALAIH B = 72,000 42,000 30,000
ONMUEt=ZE L MAl 7,000
O&=29 2= 552 &It 2 10,000
OFEEE AL Al €53 10,000
OHM38sl HEME I 15,000
ONOUE =M 2 MUS&X 30,000
308 X XIEHHSOIA 9,000 49,000 240,000
01 HXNHHBHELS 9,000 9,000 0
Os=E=soial 9,000
S=EUE SHAE ME EdES 45,000 45,000 0
308 A EHHSOIA 45,000 45,000 0
1132 SoHUHSZHEAEALS I 45,000 45,000 0
OF= E3 23 Mg NIANY 45,000
=M Z3t0l=wF A 58,500 58,500 0
307 eIzl & 52,500 52,500 0
04 QIZFHALAIH E = 52,500 52,500 0
o8- =23tz 13,500
OE=-HEY 230=ns 27,000
OHMBgal s=0l=83 2MUFH 12,000
308 XX EHHSOIA 6,000 6,000 0
01 AXHHILEES 6,000 6,000 0
OM9sl H#==2M&EUOI=d 6,000
HS2alls 885E2E 320,100 313,100 7,000
307 21201 A 67,000 70,000 A 3,000
04 DIZFHALALSE E X 67,000 70,000 A 3,000
OHM2ral dM2stt=HMA 27,000
OHM39al SE=H 13,000
Os=U== stote 10,000
=5 M85 sorg 17,000
308 XtXIEHHSOIA 253,100 243,100 10,000
01 IXNSHHBANEES 253,100 243,100 10,000
OHM508l SEZ3HM MHE X 100,000
ON18s sE*=0td=3 2 &X 8,100
OAMESADL HMHSAS ot (2HD|gHet) 25,000
Okodls =% 343 25,000
OR4HE AXNRS2HA 20,000
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4R 2SR SN 2sED
M 2oz 2L
tel: Eetols S8R (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 140,000 140,000 0
01 HIXNHHBHNEELES 140,000 140,000 0
O& YU JAZZTONIC HIAEIE 140,000
ANE 230z usIIE 2S5 (MSAIY) 1,281,200 1,742,000 A 460,800
308 XXM SO0l A 1,281,200 1,742,000 A 460,800
N 3JN2SUHUe3&HAE A 1,281,200 1,742,000 A 460,800
OXZ2sttlznsIe 2H(MEAY) 1,281,200
ROI2S s NS A (MEAY) 200,000 200,000 0
308 XtXIEHHSOIA 200,000 200,000 0
113 2SOHEHE & X 2 A I 200,000 200,000 0
OROtZsMzn XA (HEAL) 200,000
Stz A QEHY 172,000 215,000 A 43,000
= 86,000
< 86,000
308 MXIEHSOIH 172,000 215,000 A 43,000
= 86,000
< 86,000
11372 SoHUHSBHEAEALS I 172,000 215,000 A 43,000
ORsol=nSA CIEY 172,000
= 86,000
< 86,000
NG 2stolsnsdH X 405,000 0 405,000
= 202,500
= 202,500
308 XXM SO0l A 405,000 0 405,000
= 202,500
= 202,500
N 3JN2SUHUe3AHAE A 405,000 0 405,000
NG 2sttlsnsdyd XA 405,000
= 202,500
< 202,500
2E Oi=A XA 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 QIZFHALAIH B & 50,000 50,000 0
O2AE 2tU=HAL X 50,000
=2stitEas 249 K& 50,000 50,000 0
= 50,000
308 MtXIEHMSOIH 50,000 50,000 0
= 50,000
01 HXNHHNBHEES 50,000 50,000 0
O=23n&Es 29 K& 50,000
= 50,000




A= 2o Ms2E= PN 230l A
M 2oz 2L
tel: Eetols S8R (9 ® =)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SHEAL &3HE ALK A 250,000 0 250,000
307 gl2tol & 250,000 0 250,000
04 DI2ZHHALALSE E X 250,000 0 250,000
O=HMEEA &3z HAXRA 250,000
R4 dSEE 34,006,160 30,164,678 3,841,482
= 13,719,001
s 3,075,000
J| 1,919,178
< 15,292,981
R4 BEEW OX EE 34,006,160 30,164,678 3,841,482
= 13,719,001
s 3,075,000
J| 1,919,178
< 15,292,981
=SNHNEEM 2+ FHl 12,252,048 8,300, 162 3,951,886
= 9,959,498
< 2,292,550
403 UtXSHHSA=0l& 12,252,048 8,300, 162 3,951,886
= 9,959,498
< 2,292,550
01 X SHMA2E X 12,252,048 8,300, 162 3,951,886
O=JtNE 23 E==FHl 12,252,048
= 9,959,498
< 2,292,550
S MHHHEXAE 2= 664,500 378,727 285,773
J| 471,000
< 193,500
403 XIS E X201 & 664,500 378,727 285,773
J| 471,000
< 193,500
01 X SHHXA2E = 664,500 378,727 285,773
O=2JtXZE 23 EM&d X 664,500
J| 471,000
= 193,500
SNHNE 2 SHAIE fX22 X 192,100 191,244 856
l 158,200
< 33,900
308 AAIEHHSOIA 192,100 191,244 856
J| 158,200
< 33,900
01 HXNHHBHELS 192,100 191,244 856
OIZNXNETEZ3M LA KA XJ 192,100
J| 158,200
< 33,900
S A FHA X X S 267,366 267,366 0




A= 2o Ms2E= PN 230l A
Hu: 2R HSRE
& 2R BEEY JIX F= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 195,190
= 72,176
308 XX EHHSOIA 267,366 267,366 0
J| 195,190
= 72,176
01 HIXNHHBNEES 267,366 267,366 0
O23 M etdZHIA X ¥ &8 267,366
J| 195,190
< 72,176
22 A d2=8=22 HE 3,075,000 3,350,000 A 275,000
s 3,075,000
403 XIS E X201 & 3,075,000 3,350,000 A 275,000
s 3,075,000
01 X SHHX2E = 3,075,000 3,350,000 A 275,000
OE=2 A g2 =2 AE 3,075,000
s 3,075,000
HEAMNE E= FHH| 1,425,000 1,500,000 AT75,000
= 950,000
< 475,000
403 A X EHHSH20IA 1,425,000 1,500,000 A75,000
= 950,000
< 475,000
01 X SHMA=LE L 1,425,000 1,500,000 AT75,000
O EAE E=FH| 1,425,000
= 950,000
< 475,000
HEAME ETHAIAE 2= 259,500 529,500 A 270,000
= 173,000
= 86,500
403 MtXISHH S =0l & 259,500 529,500 A 270,000
= 173,000
= 86,500
01 AXISHHA=2E = 259,500 529,500 A 270,000
ONSAE HMAIAH 25 259,500
= 173,000
< 86,500
HEANE STALAY XSS 421,500 368, 100 53,400
2 281,000
= 140,500
403 A X EHHS =0l A 421,500 368,100 53,400
= 281,000
< 140,500
01 X SHHX2E = 421,500 368,100 53,400
OESAHE ETHAIAE KRAE+ 421,500
= 281,000

_20_




A= 2gHsDR= &3t
Y 2R HSEE
©Pl: 2aR4M0 BEDL I H ECH-E)
AR RA - FH - G(8H) - MEAY il Bl RE2
| < 140,500
SHIEX 23N 23| ,600,000 3,500,000 1,100,000
403 XXM S X201 ,600,000 3,500,000 1,100,000
01 XXM A=2E = ,600,000 3,500,000 1,100,000
OEXE 23N = ,600,000
NE 223 2=2=Hl 300,000 250,000 50,000
403 XAXISHHM S K201 A 300,000 250,000 50,000
01 XXM A2E =R 300,000 250,000 50,000
SXNE 2SN 2A=E =+l 300,000
s L Bl AL X & 3,850 4,900 21,050
| 3,850
308 XXM S0l A 3,850 4,900 21,050
| 3,850
01 IXNHHBANEES 3,850 4,900 A 1,050
OXtel R aF QI8 A 3,850
| 3,850
2o drNEd HE 263,900 120,000 143,900
= 203,000
< 60,900
403 MHXISHH S X201 & 263,900 120,000 143,900
= 203,000
< 60,900
01 XXM A=22 £ 263,900 120,000 143,900
ORE23M &=+ 263,900
= 203,000
< 60,900
sz 243 X3 23,200 18,850 4,350
= 16,000
= 7,200
308 XXM S0 A 23,200 18,850 4,350
= 16,000
< 7,200
01 AXNSHHBLEEES 23,200 18,850 4,350
OfREIsM d=+= 23,200
= 16,000
= 7,200
SIS SHEAX A 43,400 45,200 A 1,800
308 KXIEH S0l 43,400 45,200 A 1,800
01 AXNSHHBANEES 43,400 45,200 21,800
ORE =23t B 28,400
ON8zl =282l o0t 15,000
A2 ESXA 219,000 219,800 A 800




A= 2o Ms2E= PN 230l A
HH: 23R4 HERE
& 2R BEEY JIX F= (&)
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 219,000 219,800 A 800
01 HIXNHHBHNEELES 219,000 219,800 A 800
LEEIM BsAA 219,000
E}MSS ALY 2,081,876 1,609, 046 472,830
J| 1,040,938
< 1,040,938
307 glz2+ol & 2,081,876 1,609, 046 472,830
J| 1,040,938
< 1,040,938
02 QB HAANEEE 2,081,876 1,609, 046 472,830
O=stl =AY 2,081,876
J| 1,040,938
< 1,040,938
MMZETH ALY 390,400 526,150 A 135,750
= 244,000
= 146,400
308 XtXIEHHSOIA 390,400 526,150 A 135,750
= 244,000
= 146,400
01 HXNHHNBHELS 390,400 526, 150 A 135,750
OMM=23HTH At 390,400
= 244,000
< 146,400
SWANE 23 22 A 396,800 433,900 A 37,100
= 248,000
= 148,800
308 XX EHSOIA 396,800 433,900 A 37,100
=2 248,000
< 148,800
01 HIXNHHNBNEELS 396,800 433,900 A 37,100
OSZNMNH 23 S A 396,800
= 248,000
< 148,800
23t OrH=Z =08 At 624,000 531,800 92,200
= 390,000
< 234,000
308 XXIEHHSOIA 624,000 531,800 92,200
= 390,000
< 234,000
01 AXHHBILEES 624,000 531,800 92,200
O=stM O 2O ALY 624,000
= 390,000
= 234,000
HSUAZ2S M 2 EAY 59,200 76,250 A 17,050
= 37,000

- 22 -



A= 2o Ms2E= PN 230l A
Y 2R HSEE
& 2R BEEY JIX F= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 22,200
308 XXM SO A 59,200 76,250 A 17,050
= 37,000
< 22,200
01 IXNHHBNEES 59,200 76,250 A 17,050
OXHSLAIZ23HTH ES ALY 59,200
= 37,000
< 22,200
NEEE S AHY 80,000 188,800 A 108,800
= 50,000
< 30,000
308 XtXIEHH SOl A 80,000 188,800 A 108,800
= 50,000
< 30,000
01 AXHHBIYEES 80,000 188,800 A108,800
ONHEIE 2EAY 80,000
= 50,000
= 30,000
N AH =& 2 EAS 78,320 70,000 8,320
= 55,943
< 22,377
308 AAIEHHSOIA 78,320 70,000 8,320
= 55,943
< 22,377
01 HXNHHNBHELS 78,320 70,000 8,320
OHMAHSZ L &S A 78,320
= 55,943
< 22,377
NAZstRE DAY 70,000 155,800 85,800
J| 50,000
= 20,000
308 XXM SOl A 70,000 103,800 /33,800
J| 50,000
< 20,000
01 IXNHHBMNEES 70,000 103,800 /33,800
OXEEatre WFAE 70,000
J| 50,000
< 20,000
R4 BEAY 87,680 90,200 A 2,520
307 21201 A 22,680 25,200 A 2,520
02 QIAHFAAHFEX 22,680 25,200 A 2,520
Os= 23 Jlse 235H 22,680
308 XX EHSOIA 65,000 65,000 0
01 HIXNHHNBMNEES 65,000 65,000 0

_23_




A= 2gHsDR= FA 2et0E A
Hu: 2R HSRE
& 2R BEEY JIX F= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O2at7L 23 AY 65,000
SSSEESHT L St=H3I A 10,000 10,000 0
308 XXM SOl A 10,000 10,000 0
01 IXNHHBNEES 10,000 10,000 0
OS=sE2sd7 s=tial Nzl 10,000
5 SEAR S=F AN L2 16,000 16,000 0
308 XtXIEHH SOl A 16,000 16,000 0
01 X HHBLEES 16,000 16,000 0
OS= SEdT S=3N g2 16,000
S5 SE2SAH g2 50,000 0 50,000
201 Let249] 50,000 0 50,000
01 At 224l 50,000 0 50,000
O SE2SAH g2 50,000
2 LA 22t 50,000 0 50,000
201 L4l 50,000 0 50,000
01 At 2t 2l 50,000 0 50,000
OF= LS A &2F 50,000
NS A SE22] AHY 284,000 425,000 A 141,000
= 229,600
< 54,400
308 XXM SOIA 284,000 425,000 A 141,000
= 229,600
= 54,400
01 AXHHILEES 284,000 425,000 A 141,000
OHMAIR L BE&E2e] At 284,000
= 229,600
< 54,400
23 CHLH B FHIAY 236,880 147,950 88,930
= 175,760
< 61,120
403 A X EHHSH20IA 236,880 147,950 88,930
= 175,760
< 61,120
01 HXSHMA=LE L 236,880 147,950 88,930
OZSM ot E HHIAY 236,880
= 175,760
< 61,120
drS2 0L A BIX 19,140 19,140 0
= 13,200
= 5,940
308 XXM SO A 19,140 19,140 0
= 13,200

_24_
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CRA - FH - B(BH) - MEMY - BYS il Bl RE2

202 Od4dl 43,910 34,920 8,990

01 = LH 4 Hl 43,910 34,920 8,990
OJlEul 43,910

203 YR =&l 22,800 22,800 0

01 JI122E =4 6,600 6,600 0
O2Hs2&E=% 6,600

04 FEXNSELR=LH| 16,200 16,200 0
O23t0l= ot 4,800
OXM=&E 3,600
Ozza3u 4,200
OAH=E=3stt 3,600

MEEs(20=ar ) 110,000 0 110,000

WEHHX S 110,000 0 110,000

HEHeH X = 110,000 0 110,000

705 ==& cl 34 110,000 0 110,000

04 Al - SN SNLI S0 =30 A& 110,000 0 110,000
S MEIE 01 AS 70,000
OMA =2 dd A XA 40,000
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AR 2SR SAHsHES
Hu: Asmol HIHE
SR T (29l & 2)
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 500,000 500,000 0
01 HIXNHHBHNEELES 500,000 500,000 0
OAN=zZ 282718 X& 500,000
=M AZ= WX 46,000 46,000 0
202 o4dl 6,000 6,000 0
03 =R 6,000 6,000 0
O=32H20HI 6,000
301 LA F 40,000 40,000 0
06 212toI =2l 04l 40,000 40,000 0
O=2HMNAEZ=WEAA 40,000
& M=Es XN 9,540,344 9,364,228 176,116
307 gl2tol & 9,540,344 9,364,228 176,116
02 IZtA M AHE X 7,562,781 7,419,519 143,262
OXZHEIEAMNY 7,514,181
ON=sJI=ax4 48,600
03 QIZtHNHE2HHEX 1,977,563 1,944,709 32,854
Os=Hd=3 MR2H29 1,977,563
JAE=HHM HFXR 297,000 302,400 5,400
307 glz2tol & 297,000 302,400 A5,400
02 It MAHEE 297,000 302,400 25,400
OAESSHH HIXNH 297,000
SOIAA = KA 250,000 250,000 0
308 XXM SO A 250,000 250,000 0
01 IXNSHHBANEES 250,000 250,000 0
OEgHd 2gdl XN& 250,000
HdE2H=0E N 343,000 338,000 5,000
307 21201 A 160,000 135,000 25,000
04 DIZHHALALSE E X 160,000 135,000 25,000
O0AHEE 23 10,000
OANzZHEeAXMOtetEW S 70,000
FSE Y A20tetE Hal 80,000
308 AHXIEHHSOIA 183,000 203,000 220,000
01 HIXNHHNBMNEELES 183,000 203,000 A20,000
OF2I d=2REUH3 120,000
OS=EZXAMH =35 83 HQI3E U3 25,000
SETTAH 2243 8,000
OM753 d=adUHSEgEd=AAUS 30,000
T 232 HEHIA 200,000 0 200,000
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AR BoHsHE=2 2A =i s
HH: =m0l HIAE
SR T (29l & 2)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
308 XHXIEHSO|A 200,000 0 200,000
01 AIXSHMENMNEX= 200,000 0 200,000
O 2dlI8 g3+ a2 200,000
SH=srE 6,502,906 5,604,088 898,818
J| 4,603,708
& 1,899,198
MEH=E K 2,000 2,000 0
202 04| 2,000 2,000 0
01 2Ll 2,000 2,000 0
OMEE =204 2,000
MEHS XIS A BRI (Al2) 1,159,645 1,138,176 21,469
J| 1,132,285
= 27,360
308 XAXIGHHM SOl & 1,159,645 1,138,176 21,469
J| 1,132,285
= 27,360
01 IXHHIMNEEXTZ 1,159,645 1,138,176 21,469
OgetMeEtH s X =X+ X 1,159,645
J| 1,132,285
& 27,360
24 HsEs X (A2) 1,022,318 1,003,392 18,926
Jl 998, 198
& 24,120
308 AXIEHSOIA 1,022,318 1,003,392 18,926
Dl 998,198
c 24,120
01 AIXSHMENMNEX= 1,022,318 1,003,392 18,926
Oz 4 MEHFA A X 1,022,318
J| 998, 198
& 24,120
HEd H=sg2s Ad 44,940 44 940 0
J| 22,470
= 22,470
307 2iz2to| A 44,940 44 940 0
J| 22,470
= 22,470
04 CIZ2tSHALALS B = 44 940 44,940 0
OE=0SaMEH=US 44,940
Jl 22,470
o=t 22,470
AEZX2L 0l2H XY 1,682,703 922,080 760,623
J| 1,385,755
o=} 296,948
308 AMXISHMSOIA 1,682,703 922,080 760,623
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A= A=A = 2M A=W
Mo AEMO MRS
Sl MEHSHE (B9 ®R)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
O34 B0t EU S 10,000
M= MAXEAH U3 45,000 45,000 0
308 X SHAMSOIA 45,000 45,000 0
01 AIXHMBAEEXZ 45,000 45,000 0
SHON HRMATEIN (3 27,000
OQUMDNFEEH 2= ANNEAHUS 18,000
BHAMNE XN& 47,400 47,400 0
308 AXISHXMSOoIH 47,400 47,400 0
01 AIXIHMBAEXZ 47,400 47,400 0
ONAHESAUS 32,400
ORsMs2Z2H2L I NEAUS 15,000
MEHSEE TVEA 10,800 12,000 A 1,200
307 QI2t0| ™ 10,800 12,000 A 1,200
02 DIZtZAAMEE X 10,800 12,000 A 1,200
OMess & TVE A 10,800
S5 S0 S 15,000 16,200 A 1,200
307 212+0| & 15,000 16,200 A1,200
04 QIZHSHAFAIRE 2 X 15,000 16,200 A 1,200
OssZsina 15,000
E20U3 X € XA 37,200 41,400 A4, 200
308 AXISHAMSOIH 37,200 41,400 AN4,200
B EYEREES 37,200 41,400 4,200
OWK(OX=E7)2ld KX 37,200
d= 2UUHA X 63,000 70,000 A7,000
308 AHX| S M SO0l & 63,000 70,000 A7,000
01 AXHMIAEES 63,000 70,000 A7,000
Od=220C AN 63,000
OIEAMIIE K& 4,000 4,050 AB0
307 212t01 & 4,000 4,050 AB0
04 QIZHSHAFAIRE 2 X 4,000 4,050 AB0
Os3=L U5EIIUS 4,000
HAad =23 ni U3 18,000 18,000 0
308 AXISHXMSOoIH 18,000 18,000 0
01 X HMBAEXZ 18,000 18,000 0
O=2HM 8 -5 244 =23 WU 18,000
S8 UEHE 135,000 150,000 A 15,000
307 QI2t0| ™ 90,000 100,000 A 10,000




AR 2SR SAHsHES
HH: =m0l HIAE
Sl MEHSHE CERED
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Eﬁ HR=2
04 SIZ2ISHAAIH E & 90,000 100,000 A 10,000
OsssH H&EH 90,000
308 MXISHHMSOIA 45,000 50,000 A5,000
01 IXHHIMNEEXS 45,000 50,000 A5,000
EESH (& A 45,000
201100 ¢ SHEH 299 960,000 990,000 A 30,000
Jl 960,000
308 XX SHHSOIH 960,000 990,000 A 30,000
J| 960,000
01 AIXSHMENEXZ 960,000 990,000 A 30,000
=20 100 QISHEH &9 960,000
J| 960,000
HESMHs XS 46,000 49,000 A 3,000
307 2iz2to| & 36,000 39,000 A 3,000
04 QIZ2tSHAFAFS B X 36,000 39,000 A 3,000
OZ XA BIS O 3 9,000
Odisel &I A 27,000
308 XAHXIEHMSOIA 10,000 10,000 0
01 AIXSHMENEX= 10,000 10,000 0
OHZYHE HI==H 10,000
Jtats Al ATIXA B2 AIY 105,000 0 105,000
J| 105,000
403 XX SHHS K20 & 105,000 0 105,000
J| 105,000
01 AXHAMAEE = 105,000 0 105,000
OJtatsl s AZ XA B3 A 105,000
J| 105,000
SRR sHES XS 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
03 UAHHEESIHES 20,000 20,000 0
Ost=LR0sHES XA 20,000
HYHN AZZHE WA SH(MEAY) 70,000 0 70,000
308 XX SHHSOIH 70,000 0 70,000
01 AIXSHMENEXZ 70,000 0 70,000
O AZXHE WA 29 70,000
A HESEE 5,826,143 6,058,969 N 232,826
J| 675,003
== 5,151,140
O E AEAY 4,798,297 4,961,614 A 163,317
301 et ™M= 20,000 0 20,000
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AR 2SR SAHsHES
Hu: Asmol HIHE
Sl BOHOIRSHE CER-ED
L=
AR .SN . O (3H) - NBAY - B Ol &F o4 ﬁlgﬁ HRE2
06 212to1 =22 (4 4] 20,000 0 20,000
O&MA2MAEZL= NI 20,000
307 QI2t0| ™ 4,778,297 4,961,614 A 183,317
02 QI2tAAMAIE E =X 3,673,704 3,863,846 A 190, 142
OFHMAUMESEEAIS 2,179,960
OHMNAUAAZAMAEISA 1,314,744
O ESHEXA 179,000
03 QIZI X HAESIHIEX 1,022,093 1,027,768 N5,675
OFSE=THMAUAEE AMBH2HEY| 1,022,093
04 CIZ2tSHALALS B X 82,500 70,000 12,500
O XN AMMEEOMAMEU S 82,500
AOIEMEUHE X 100,000 100,000 0]
J| 19,000
o= 81,000
307 2I2t0| & 100,000 100,000 0
J| 19,000
=} 81,000
04 SIZ2ISHAAISH E X 100,000 100,000 0
OO SO 3 100,000
J| 19,000
& 81,000
ZOHCIMEN SRS XX (MS3]) 88,924 202,776 A 113,852
J| 44 462
= 44,462
307 2iz2to| & 88,924 202,776 A 113,852
J| 44 462
= 44 462
02 QIZ2IA AAIE E X 88,924 202,776 A 113,852
OO ME M= Xl & XHEH X 88,924
Il 44 462
=} 44 462
ORI ME XS K S RHHH X (Al ) 726,212 709,715 16,497
J| 518,721
& 207,491
308 XXISHH SO0l & 726,212 709,715 16,497
J| 518,721
& 207,491
01 IXHHIMNEXZ 726,212 709,715 16,497
OXMI Me = A& X B X AI& 726,212
J| 518,721
= 207,491
SO AEZR2AFOIAEAKN S (AZ) 112,710 84,864 27,846
J| 92,820
= 19,890
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AR 2SR SAHsHES
HH: =m0l HIAE
Sl BOHOIRSHE EERED
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Ei HR=2
308 XHXIEHSO|A 112,710 84,864 27,846
J| 92,820
= 19,890
01 AIXSHMEMNEX= 112,710 84,864 27,846
OHOMR AZLAZ 0/2H XS 112,710
J| 92,820
o= 19,890
HEAE &= 61,352,217 63,736,009 N2,383,792
g 13,665,000
J| 12,401,000
& 35,286,217
ESEATXAMEH 22 170,217 170,217 0
07 212t0| & 170,217 170,217 0
02 QIZIA AAIE E X 170,217 170,217 0
OsS=EATXAMEH 22| 170,217
Z2Z2HESANEME S 10,000 10,000 0
201 et 10,000 10,000 0
02 2324 10,000 10,000 0
O=E=H=s3 & 8 HH 10,000
20 HEHAS X 14,270,000 21,620,000 A7,350,000
D] 4,800,000
= 9,470,000
403 XX SHHMS X201 & 14,270,000 21,620,000 A7,350,000
Jl 4,800,000
& 9,470,000
01 XS A2E X 14,270,000 21,620,000 A 7,350,000
O=20HMYHEH HE 14,270,000
J| 4,800,000
& 9,470,000
HMEXTEANE X (ME) 30,472,000 25,600,200 4,871,800
Fag 13,665,000
& 16,807,000
403 XX SHHS K20 & 30,472,000 25,600,200 4,871,800
Fag 13,665,000
== 16,807,000
01 MXHHAEBE = 30,472,000 25,600,200 4,871,800
OMESEEAE X (ME) 30,472,000
= 13,665,000
= 16,807,000
AT W N EMs2 A 5,050,000 6,450,000 A 1,400,000
J| 800,000
o= 4,250,000
403 XX S M S K201 & 5,050,000 6,450,000 A 1,400,000
J| 800,000
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o= SHs2E= M4 HEIEDL
HH: =m0l HIAE
S MSAE =25 (cho &)
= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
< 4,250,000
01 XM A2E X 5,050,000 ,000 A 1,400,000
OMYX W HEEH=s2 AE 5,050,000
J| 800,000
< 4,250,000
2eldad AR s A2 2,920,000 ,500 191,500
| 1,800,000
= 1,120,000
403 XIS E X201 E 2,920,000 ,500 191,500
| 1,800,000
< 1,120,000
01 X SHHA2E= 2,920,000 ,500 191,500
O2gdaEd AnE8 sz XA 2,920,000
| 1,800,000
< 1,120,000
SHEAENES 5,835,000 ,000 1,614,000
| 3,501,000
< 2,334,000
403 UHXSHHSA=0l& 5,835,000 ,000 1,614,000
| 3,501,000
< 2,334,000
01 HXSHMA=E X 5,835,000 ,000 1,614,000
OZ3HSAE HE= XA 5,835,000
| 3,501,000
< 2,334,000
HdSRUISALE AHE 2,625,000 ,000 0
| 1,500,000
< 1,125,000
403 MtXISHH S0l & 2,625,000 ,000 0
| 1,500,000
< 1,125,000
01 XM A=2EE 2,625,000 ,000 0
OSSR JEAE 2E 2,625,000
| 1,500,000
< 1,125,000
Higd At X & 3,561,806 ,992 1,541,814
=SHEA & =HINF? =X 34,000 ,000 A 15,000
201 et 11,000 ,000 0
01 At 22l 11,000 ,000 0
O=HM ALK& LA &==ZH| 10,000
OIMEALX 2 =&l 1,000
202 oddl 3,000 ,000 0
01 = LH o4 1l 3,000 ,000 0
O=HMAXE LAY 3,000
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M ox
40 5 4

SsHS2Y= 2N HS
oSxol HEUES
2 A X2

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

307 glz2tol & 20,000 30,000 A 10,000

04 DI2HHALALSE E X 20,000 30,000 A 10,000
OMHAS=AY HAfF3 20,000

NAHASUHOIAHNARS XA 1,639,306 882,492 756,814

307 eIzl & 1,639,306 882,492 756,814

02 It M AHEE 1,021,600 369,000 652,600
OMHASOOtAH Y2 3] (WMC) X 521,600
02022 22U A MAHASFHOLAH A 500,000

03 BIAHMNHE2IHIEE 617,706 513,492 104,214
OMMASOOtAH Y2 3] (WMC) X 617,706

SHRUAEH 29 XA 688,500 688,500 0

307 21201 A 688,500 688,500 0

02 YAFAAHEX 585,100 420,000 165, 100
O=HMSOEE(ICMAIY X2 (HS) 585,100

03 BIAHMNHE2IHIEL 103,400 268,500 A 165,100
O=HM=oMEH(IM2Y X2 (UHS) 103,400

IHMBUBE SSH (S EA) 1,200,000 400,000 800,000

308 XXM SO A 1,200,000 400,000 800,000

N 3JN2SUHUe3AHAE A 1,200,000 0 1,200,000
O=HSoHE SatH 1,200,000

HE2IAZH(MSEEDY) 47,209 49,986 N2, TTT

JlE3l 47,209 49,986 N2, TTT

JlE2&l 47,209 49,986 N2, TTT

201 LBt 20,079 15,966 4,113

01 At 22l 20,079 15,966 4,113
OJle+=EHl 9,154
OJles gl 10,925

202 O4dl 27,130 34,020 A 6,890

01 = LH 4 Hi 27,130 34,020 6,890
OPIE G| 27,130

HRES(MEXED) 34,000 34,000 0

WEHHX S 34,000 34,000 0

LHEHeH X = 34,000 34,000 0

705 == cl 34 34,000 34,000 0

04 Al - SXHHLII S0l =30l Kt & & 34,000 34,000 0
OS2 Mol =7 A (2020) 34,000
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403 UHXSHHSA=0l& 60,000 60,000
01 X ESHHMA=LE L 60,000 60,000
OHAMYE SFCIXL AISE A 60,000
02 SA3a =4 156,000 366,802
EEE 22004 X 28,000 28,000
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AR BoHsHE=2 22X ASS3t
Hu: FH25 I4
& F=HES MM (cho &)
L=
AR .24 - FHH .G (3H) - NSAY - BES Ol &F o4 ﬁlgﬁ HRE2
oMU =2 ot™EH dl 2,000
& A== st N ds22 AJAY 1,490,630 233,989 1,256,641
= 1,146,638
= 343,992
403 XX SHHS K20 & 1,490,630 233,989 1,256,641
= 1,146,638
== 343,992
01 XIS A=2E X 1,490,630 233,989 1,256,641
OA=FZ2 SMotE 822 XNJAY 1,490,630
= 1,146,638
= 343,992
SSsFY 22 N3 24,200 25,000 A 800
201 et 9| 23,600 24,400 A 800
01 AP 2t 2| H| 17,800 18,600 A 800
OZ2sFY ZAIH4Y ¢ J=XE AN 10,800
OZEZY 5248 4% 222 M 7,000
03 S AI2 H H| 5,800 5,800 0]
OZ2=SFHH 2148 22988 s 5,800
301 et A =2 600 600 0
09 SHAIAHI X & 2 600 600 0
OZ2sTY s2t4 8 22 /A¥E U 600
F=H3W K& 57,391,372 49,339,502 8,051,870
= 53,029,000
& 4,362,372
308 XHXIGHHM SO0l & 57,391,372 49,339,502 8,051,870
= 53,029,000
& 4,362,372
01 AIKISHHENEXZ 57,391,372 49,339,502 8,051,870
F=H20H XA 57,391,372
= 53,029,000
= 4,362,372
SHE HOHQ FEIIZAY 226,100 229,330 N 3,230
= 133,000
& 93,100
308 XX SHHSOIH 226,100 229,330 N 3,230
= 133,000
= 93,100
01 AIXSHMEMNEXZ 226,100 229,330 N 3,230
OsHE HOQ F=EHINZAIE 226,100
= 133,000
& 93,100
SH=ET FHSEHE =8 200,000 0 200,000
207 A I | 200,000 0 200,000
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AR BoHsHE=2 22X ASS3t
H: =es x4
& F=HES MM (cho &)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ol At o %Eﬁ HR=2
01 | 200,000 0 200,000
OBH=2SE FHEHHE +8 89 200,000
APAUFE AUFX &9 & SHA J2HE 50,000 0 50,000
207 I | 50,000 0 50,000
01 A& | 50,000 0 50,000
OYPAUFY U=X &9 B g I =
on 29 50,000
el sulael D] 8,098,000 5,488,000 2,610,000
Fag 6,935,000
& 1,163,000
403 XX SHHS K20 & 8,098,000 5,488,000 2,610,000
g 6,935,000
== 1,163,000
01 MXHHAEBE = 8,098,000 5,488,000 2,610,000
O A SLAS (ReIsUA2D]) 8,098,000
g 6,935,000
& 1,163,000
S AITHA AFS 48,412,610 32,084,382 16,328,228
Fag 41,318,000
o= 7,094,610
307 QI2t0| ™ 304,610 285,382 19,228
05 QIZtREZ 304,610 285,382 19,228
OFE=E TAMMIILNH 29 & 304,610
308 XAHXIEH SOl A 60,000 60,000 0
01 AIXSHMEMNEX= 60,000 60,000 0
OZAMNM 5 NgHar 25 60,000
403 XX SHHS K20 & 48,048,000 31,739,000 16,309,000
g 41,318,000
& 6,730,000
01 MXHHE2BE = 48,048,000 31,739,000 16,309,000
OEAMAM SEAH 48,048,000
g 41,318,000
== 6,730,000
HHSAAY (H=ESe ) 49,986 56,986 AT7,000
Jl2dHl 49,986 56,986 AT7,000
Jl2&H| 49,986 56,986 AT7,000
201 et | 19,966 15,966 4,000
01 AP 22| d| 19,966 15,966 4,000
OJIE2x=2Hl| 8,316
OJls2dl 11,650
202 o4l 30,020 34,020 A 4,000
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raox nx

2 2SR SN ASS5 D
M2 AAY (AS 25D
S ESTEET

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

01 = LH 4 bl 30,020 34,020 A 4,000
OJl20Hl 30,020

HWRes(A=25 ) 10,000 0 10,000

WEHHX S 10,000 0 10,000

HEHeH X = 10,000 0 10,000

705 Ol==&cl 34 10,000 0 10,000

04 Al - SXHHLII S0l == 0l Kt & &t 10,000 0 10,000
OXSILII=S A= Ol K&t & 10,000
-23d=2 Jelel2ed A 10,000
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